N = 0l & At & Ml A

20179 & 20l LBHSI A A

2 & OH

Y Lo=EX =&
3 4 29

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

S QI EOH QI 1t 186,439,606 174,443,401 11,996,205
120,858,063
, 320,541
49,261,002

= N H
>

CoISA == 138,484,499 123,323,937 15,160,562
99,565,669
,490,856
25,427,974

= N H
)

LoANE 23 19,422,025 10,718,062 8,703,963
3,275,655
,225,976
11,920,394

= Hmn i
~

LQOIZSANEBAMIL S22 76,200 91,200 A 15,000
= 7,620
Al 68,580

307 glztol & 76,200 91,200 A 15,000
= 7,620
Al 68,580

10 AL SXNAIEEE2EHEX 76,200 91,200 215,000
OLQO0IEANEEANIL EF=22E
76,200,000 76,200

7,620
Al 68,580

H

-
o
Ju
bl
e
A0
09
N

,039,054 2,073,054 A 34,000

= 90,000
Al 1,949,054

[

307 glztol & 2,039,054 2,073,054 A 34,000
90,000
Al 1,949,054

H

&= 2,039,054 2,073,054 A 34,000
ORFANAO =X 2= 678,049,000& 678,049

30,000
648,049
OFRHAN AL =S X 2 676,252,000& 676,252
= 30,000
Al 646,252
ORHANLLIE =2 684,753,000& 684,753

30,000
654,753

= M

= M

|
Poh
0z
e
H
0
I
=
-
e
>
x

,800,000 1,100,000 700,000
,620,000
126,000
54,000

= W

301 &

<
H
0z
oy

,800,000 1,100,000 700,000
= ,620,000
= 126,000
Al 54,000

—




A el Zoel
B Co=K £
el LOIAE 2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 MI2EZE+06l= 1,800,000 1,100,000 700,000
OJNZMERIIO0 (AL
1,800,000, 000& 1,800,000
= 1,620,000
< 126,000
Al 54,000
LOoIRAALE2HY| 106,900 105,099 1,801
< 32,070
Al 74,830
307 glz2tol & 106,900 105,099 1,801
< 32,070
Al 74,830
10 AL SXAIEEHE2EH EX 106,900 105,099 1,801
OLe2AE 29l 106,900, 000& 106,900
< 32,070
Al 74,830
LURIANE JISEH 45,176 2,684 42,492
= 22,588
< 22,588
307 glz2+ol & 45,176 2,684 42,492
= 22,588
< 22,588
11T MISRASEX 45,176 2,684 42,492
OLRAANEIsEZAY 45,176,000 45,176
= 22,588
< 22,588
COSEEEMEIA 1,287,916 1,333,600 ~45,684
= 901,541
< 57,956
Al 328,419
307 21201 A 1,287,916 1,333,600 AN 45,684
= 901,541
< 57,956
Al 328,419
11 ALS S XAEE = 1,287,916 1,333,600 A 45,684
OkLelssEagMt A 1,287,916,000& 1,287,916
= 901,541
< 57,956
Al 328,419
CoSEI2AE A 1,178,093 1,000, 133 177,960
2 706,810
= 45,441
Al 425,842
101 @124 dl 1,123,839 956,023 167,816
= 690,626
= 44,401
Al 388,812
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SAM: ol EOHel Dt
B Co=K £
el LOIAE 2 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
04 JIZHHZ2XREES 1,123,839 956,023 167,816
OLo=ssII2MblA el J2tH=22 4 oA
=l 1,556,000 x4H 123 74,688
= 52,282
< 3,361
Al 19,045
OLo=sII2AMblA e J2tHz224 2
=3 7,514,000 7,514
= 5,260
< 338
Al 1,916
OLo=ssII2AMbla e J2tH=224 & A
HNEg3 4,512,000 4,512
= 3,158
= 203
Al 1,151
OLo=ssII2AMblA el J2tH224 20
d bl 9,982
— 223l 10,000& 203 200
— S48 2 WSl 100,000& x4 128 4,800
—MolBEEE(HAH) 50,000& x4 H 200
— =2l 7,000 4 «53] 128 1,680
— SE X AKX 55,500 *4H 13| 222
—EM(E8H)J g5l 30,0003 x4H «23| 240
— AL (HEHE) 100,000 x1H x12& 1,200
— &A= (ASISXIA) 30,0008 +4H <122 1,440
OLeE=20l JIZHM2 22X 1Al
841,000& +77H«128 777,084
= 543,959
< 34,969
Al 198,156
OLesS20l JIZMZ2Z2A 40 EE =
78,177,000 78,177
= 54,724
< 3,518
Al 19,935
OLes20l JIZNZZ2X EXAFE S
53,312,000 53,312
= 31,243
< 2,012
Al 20,057
OLes20l JIZHZZ2A oAb 107,620
— ===t 10,000& *702l 700
— SAH Y WSl 100,000& »77H »12& 92,400
—-BE2(¥) 50,000& »77H 3,850
— S E X AKX A 55,500& x77H 4,274
—EM(E8H)I &3l 30,000& *77 X »23] 4,620
— N aH(BHE) 30,0003 »4H 123 1,440
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M Lol &0H el It
B Co=K £
el LOIAE 2 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
—HAY fEI3 o =22
7,000 x4 128 336
OoLolsgl)I2A4HA JIZHM22A I2H (=
2 5t2) 150,000& 73X 10,950
201 gEt24d| 54,254 37,110 17,144
= 16,184
= 1,040
Al 37,030
01 AP 22| H| 23,120 23,120 0
OkolsEslI2AMddA 29| 23,120,000 23,120
= 16,184
= 1,040
Al 5,896
02 2324 31,134 13,990 17,144
OkolsEsJIaMduHA 2222 31,134,000 31,134
SENHLOXKAME 2F(LBt29H|) 42,700 0 42,700
301 LBt A= 42,700 0 42,700
09 HAIAHI EAZ 7,000 0 7,000
Oko=s20 f¥3as 7,000,000& 7,000
11 JIEtE A= 35,700 0 35,700
OEEH20IY SHECQ Tz ARG
70,000& *85Z=*63| 35,700
MOt EXAE2Y 415,970 355,050 60,920
& 41,597
Al 374,373
307 2iz2to| A 415,970 354,420 61,550
o=t 41,597
Al 374,373
10 MM SAANEEHESIGHEX 415,970 354,420 61,550
OMIt=ol SEXNAE &9 415,970,000& 415,970
o= 41,597
Al 374,373
LOIHIIEXAE XS 12,000 12,000 0
307 QI2t0| & 12,000 12,000 0
10 Al SXNANEEHESIHEX 12,000 12,000 0
O/AE L EIAALE RAE 4|
3,000,000 404 & 12,000
LOQAAEEANA E4222E = 249,164 249,164 0
= 24,916
Al 224,248
307 giztol A 249,164 249,164 0
= 24,916
Al 224,248
10 MM SAANEEHESIHEX 249,164 249,164 0
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q

M Lol &0H el It
B Co=K £
ool LoAE 29 (et
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OCoRgAE BAR S+22+9
249,164,000 249,164
= 24,916
Al 224,248
LOAEIRY MIta O 5,532,511 1,608,771 3,923,740
= 829,877
Al 4,702,634
301 LBt A= 5,532,511 1,608,771 3,923,740
= 829,877
Al 4,702,634
01 Al E & A %52 5,532,511 1,608,771 3,923,740
OLQ&EIRY MIt=H 5,532,511,000& 5,532,511
= 829,877
Al 4,702,634
LOIAIIRYF AIEA3 N 6,314,684 2,479,843 3,834,841
= 2,841,608
Al 3,473,076
301 YU B A 6,314,684 2,479,843 3,834,841
< 2,841,608
Al 3,473,076
01 Al B & A 46 2 6,314,684 2,479,843 3,834,841
OLQ&EIRY AIEZ2H 6,314,684,000& 6,314,684
= 2,841,608
Al 3,473,076
365 HEA =s4HEH 94 X 148,000 148,000 0
o 44,400
Al 103,600
307 212t0| ™ 148,000 148,000 0
= 44,400
Al 103,600
10 AISIEXAIEEHE2IHIEX 148,000 148,000 0
0365 2 =s=EdH 89 148,000,000 148,000
& 44,400
Al 103,600
ESL0 SSAY 46,800 46,800 0
307 2Iz2to| & 46,800 46,800 0
11T A EXAIEEX 46,800 46,800 0
O3k =ssAMY 46,800,000 46,800
SHEZSSHHC SSHELSIAH A 14 A& 20,112 76,464 Nb6,352
= 10,056
Al 10,056
101 2121 d| 20,112 46,464 N 26,352
= 10,056
Al 10,056
04 JIZtHIZ22XNSE S 20,112 46,464 N 26,352
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A el Zoel
B Co=K £
el LOIAE 2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSHLSSAAEEE0l JIZH2 2R A4
1,676,000 18 «12& 20,112
= 10,056
Al 10,056
SHUSSHMHL SsSd dEAMHA 2EXE 6,984 0 6,984
= 3,492
Al 3,492
101 @14 dl 3,500 0 3,500
= 1,750
Al 1,750
04 JIZHHZ2XNHEE S 3,500 0 3,500
OSHEUSSHAESE0 JI2HM22 X 401 E
I=k=3 124,000 18« 122 1,488
2 744
Al 744
OSHLSIUHHMSE0| JI2HMI2X E&H
El= 167,600 18« 122 2,012
= 1,006
Al 1,006
201 ¢er24| 3,484 0 3,484
= 1,742
Al 1,742
01 At 22l 3,484 0 3,484
OSHLUSSAEESE0 JI=2E |
3,484,000 3,484
= 1,742
Al 1,742
HEQ=SZSZHMHO SSHALMEIA 2SR (E 6,072 0 6,072
sS4l ¥ RAE=Hl)
= 3,036
Al 3,036
201 Let2d ] 6,072 0 6,072
= 3,036
Al 3,036
01 At 22l 6,072 0 6,072
O=sHksgd=sE0 FHsad € 7X
£l 6,072,000& 6,072
= 3,036
Al 3,036
SEHASSME IOl &6t A 10,000 10,000 0
< 3,000
Al 7,000
307 glz2+ol & 10,000 10,000 0
< 3,000
Al 7,000
10 ALSISEXAIEEE2EHEX 10,000 10,000 0
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A el Zoel
M Lo=R Qa0
el LOIAE 2 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSHLUZSSHE JtHOI&Eot A
10,000, 000& 10,000
= 3,000
Al 7,000
LolEE HIIJFALMEIA 11,619 25,200 A 13,581
= 8,132
< 523
Al 2,964
307 gl2tol & 11,619 25,200 A 13,581
= 8,132
< 523
Al 2,964
11T M SRAISE EX 11,619 25,200 A 13,581
OLoss HIIJAFMHI A 11,619,000& 11,619
= 8,132
< 523
Al 2,964
FINAIN2 AMETE S U= 1,270 1,000 270
201 Let24E] 1,270 1,000 270
03 &Ar2 I 1,270 0 1,270
ORI AIEE 5 U= 1,270,000 1,270
SO - I ST AIE BALR XML 10,800 0 10,800
= 10,800
307 21201 A 10,800 0 10,800
< 10,800
10 ALSISXAIEEER2IHEX 10,800 0 10,800
OLQ=0 - MU =EXAE SAX HLHA
=l 10,800, 000& 10,800
< 10,800
AMEZIEXTAEEAXH S K& 40,800 0 40,800
< 40,800
307 21201 A 40,800 0 40,800
< 40,800
10 ALSISXAIEEE2GHEX 40,800 0 40,800
OMEISXIAIE SAA MRHAH|
40,800,000& 40,800
< 40,800
Lol OIEBAE BAX E=2RE 13,800 0 13,800
< 1,380
Al 12,420
307 21201 A 13,800 0 13,800
< 1,380
Al 12,420
10 ALSISEXAIEEE2EHEX 13,800 0 13,800
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SAM: ol EOHel Dt
M Lo=R Q)
el LOIAE 2 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OCO ANl BAEEANR S4084T
13,800, 000& 13,800
= 1,380
Al 12,420
COolYReEE D2 BSAX ML X 5,400 0 5,400
< 5,400
307 gl2tol & 5,400 0 5,400
< 5,400
10 M3 ZXNANEHI2IHEX 5,400 0 5,400
ColdlteldEIN 2 BSAN MRMH X
5,400,000 5,400
< 5,400
Lol oitgs XA 109,808,292 103,659,977 6,148,315
= 93,406,659
< 8,527,537
Al 7,874,096
ColMEotd X3 154,230 148,470 5,760
206 T 2 bl 3,000 3,000 0
01 =8l 3,000 3,000 0
OaddHsSAY 8= ZHI LM & 3,000,000 3,000
301 LEtE A= 63,230 31,550 31,680
1M1IIEEAS 63,230 0 63,230
OaHSAE 29HE 31,550
— S AHAHI 5,000& *150 413 30,750
— X¥Est 10,0002 »10H +x8& 800
Okluwa ZA=E&
120,000 x2H 1100 2o+ 128 31,680
307 glz2+ol & 88,000 88,000 0
11 AISI S XA E X 88,000 88,000 0
OZ2E A X& 1,500,000& *36 0 = 54,000
OLoloyg A XA 34,000
— et els AA0IXzE 14,000, 000& 14,000
— et 213 ALK E 10,000, 000& 10,000
— et olg 2F X3 10,000, 000& 10,000
B4 1,147,140 443,200 703,940
301 L2 A F 1,147,140 443,200 703,940
01 A EE E 563 1,147,140 443,200 703,940
O&x==¢ 20,0003 +6,373H +x9& 1,147,140
=3 101,230,523 98,171,368 3,059, 155
= 93,238,639
< 7,991,884
301 L2 Az 101,230,523 98,171,368 3,059, 155
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2N
X ZH -
L= B

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 93,238,630
& 7,991,884
01 MSIEXEE G2 101,230,523 98,171,368 3,059, 155
OPIES S 101,230,523,000& 101,230,523
2 93,238,639
T 7,991,884
I ZMELZ L0 EsHE| 927,500 649,500 278,000
= 278,250
Al 649,250
301 dEtE A= 927,500 649,500 278,000
= 278,250
Al 649,250
01 A B & A 435 2 927,500 649,500 278,000
OJIz=ME+2 L0 EsHEdl 927,500,000 927,500
T 278,250
Al 649,250
d29 XA 2,558,077 808,566 1,749,511
201 Bt A | 251,168 253,262 N2,094
01 AP 22l Yl 156,500 186,700 A 30,200
Ogxd=2e X (M) 94,800
— D2 H2 650,000& x12& 7,800
— &hAl 900,000& x12& 10,800
—&E> 600,000& x12& 7,200
— &0t 1,200,000& x12& 14,400
- 93 200,000& x12& 2,400
— & 1,100,000& x12& 13,200
— &0| 900,000& x12& 10,800
— o i 2tk D] 600,000& x12& 7,200
—3l= 500,000& = 12& 6,000
- 3502 1,250,000& x12& 15,000
Ozx0ts3zd ANES2 50,000,000& 50,000
Odz24Y 0ol™M0l HE OlAF HIS 1,200,000& 1,200
OFZE A HL st S € S04
442 1,000
—2EM B} 248 500,0002! *1JH £ 500
~ FA(LIE SINLE 242
(100,000 *3IH A )+(200, 0002 * 10 ) 500
OZ2Y LRI MY 8,000,000 8,000
Odz4d H#HEF oMb 3,000& 5002 1,500
02 =294l 94,668 66,562 28,106
Oodz4Y sAaell 13,990
— NI EH L otM RIC 58,000& 1554 £~ 8,990
—LCESX THB A/S 250,000 20 A 5,000
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2N

L
[
HE: =X Q0
L
w

Sl Lol OIIEE X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ2Y 23 23234l 17,943
— &3t FAH 60,0002 *85H A 5,100
—FEYFSZEY &Iz, deldiold 2=
S OHM HARHI
(235, 130%12& )+(120,560& x 13 ) 2,943
—MZHEE2E USHIHHE & T2
o 2E MRS 200,000& »12& 2,400
—RSEAM HEIZZY HIIAER
500,000& 374 A +52 7,500
oxdga=zg Jl=2eltl 165,000& =128 1,980
OZ2Y CHY AEZ
17,000 1800 A+ 123 36,720
OZ2% =352eltl 21,000,000& 21,000
OZ2eg s eU=IXNAE B2HEXE FXAHl 3,035
— NS XA 35,000& ~10CH 35
- B&E= 300,000 =104 300
- SAtdl (=2 . f57) 2,700,000 = 1CH 2,700
307 glz2tol & 226,513 273,504 A 46,991
11T M SRAISE EX 226,513 273,504 A 46,991
OZ2Y Wand & NI (548) 226,513
— WHDEN 2 48,700 *3630H 2+ 1228 212,138
— EHHH B 3,300 363 & x128 14,375
401 Al HIZ 201 8] 1,404,396 281,800 1,122,596
01 A& HI 1,386,824 280,000 1,106,824
OZ2g &dHE At 250,000,000 250,000
OHBIZZEY SHEAY 1,136,824
— Al &4l 3,106,040& x340.77m 1,058,446
— & A4l 1,058,446,000& *5.42% 57,368
— OFM 2 AtHI 21,010,000& 21,010
02 2eltl 11,961 0 11,961
OHEBIZY SHEAY
1,058,446,000& 1. 13% 11,961
03 Al 204 5,611 1,800 3,811
O&d=2Y #ZMA ArZ 250,000,000 x0.72% 1,800
OHBEZE SHEAY
1,058,446,000& *0.36% 3,811
402 BI2FX=20| M 66,500 0 66,500
01 2IZEH 2 A B (KM ) 66,500 0 66,500
OZ2ELFHIMSE LA 50,000,000& 50,000
OHEBZZY HIHE & ¥
,500,000& *3J4 & 16,500
405 TtabF S| 609,500 0 609,500
01 AL EFFH S 609,500 0 609,500

- 220 -




2N

L
[
HE: =X Q0
L
w

Sl Lol OIIEE X (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Oodligtetold =24 o1 el 450,000,000 450,000
OJE;2s dN&E = Y 150,000,000 150,000
OZ=2E o e L&yl
(3,500,000 *1JH 2 )+(6,000,000& 11 A ) 9,500
A2 29 X 1,938,216 1,890,084 48,132
= 66,402
Al 1,871,814
301 et A= 1,938,216 1,890,084 48,132
o= 66,402
Al 1,871,814
01 Al E& A %52 1,938,216 1,890,084 48,132
O3z 29 1¥ 1,910,616,000& 1,910,616
& 66,402
Al 1,844,214
OHEZEZY 2dH| odHe e
(200,000 * 109 A =122 )+(200, 000 *3H A %6 27,600
2)
A2EY W el & 2k2Y] XA 672,080 637,053 35,027
= 168,020
o=} 151,218
Al 352,842
301 et A= 672,080 637,053 35,027
= 168,020
=} 151,218
Al 352,842
01 Al E&E A 2623 672,080 637,053 35,027
OdZE YW . ey & =4 X
672,080,000& 672,080
= 168,020
o 151,218
Al 352,842
A2 A S A ESH| 321,300 321,300 0
= 32,130
Al 289,170
307 QI2t0| & 321,300 321,300 0
& 32,130
Al 289,170
11 Al EXAIEEX 321,300 321,300 0
OAZEY A2 A E=HI 321,300,000& 321,300
= 32,130
Al 289,170
d2C 435 AIY 259,740 65,000 194,740
== 3,000
Al 256,740
301 LBt A= 128,500 0 128,500
11 JIEtE A2 128,500 0 128,500
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2N

L
[
HE: ol=K SR80
w =

S = HWotEs X (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONEZ=2Y T2 22l Al I2Tuol
H)IEAZ
(450,000 «12H 128 )+(450, 000 14 102 127,800
)
ONBZ2Y T2 2elAH(= a2 Tuol
BH) 282 50,000& x14H 700
307 gl2tol & 131,240 65,000 66,240
= 3,000
Al 128,240
11T M SXAISE EX 131,240 65,000 66,240
OZ2Y 43 A 65,000,000& 65,000
< 3,000
Al 62,000
ONEZZY Z20d N2AY
(30,0003 *4H 100 A #43] x 128 )+(30, 000 *4 66,240
H*3 A *43]+68 )
Hel2H A DAL K& 9,000 18,000 A 9,000
= 2,700
Al 6,300
307 glz2+0ol & 9,000 18,000 A 9,000
< 2,700
Al 6,300
10 ALSISXAIEEE2EHEX 9,000 18,000 29,000
OMeI2HAIANE XNE S 9,000,000& 9,000
< 2,700
Al 6,300
Lot & XA 327,229 312,829 14,400
201 et 4,560 4,560 0
01 At 2teltl 4,560 4,560 0
OLe=EIl=2882dds 4
70,000 »4H »23] 560
OLood(oEXNsa)E&N ®E & X
& 80,000& x50 4,000
203 YR =2l 11,300 11,750 A 450
03 Al =AY R =& 11,300 11,750 A 450
Okel=X gR=2 11,300, 000& 11,300
307 gl2tol & 311,369 296,519 14,850
10 AL SXNAIEEE2EH EX 311,369 296,519 14,850
OLolslXs 2dHi(2d8 & X &sHl) 149,089
— X3l 900,000& x3H 128 32,400
- =% 1,886,860 «3H «12& 67,927
- 1,354,500 »3H 123 48,762
OZ2Y =3x8 22X XA (1A L
2=tl) 105,880
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2N

L
[
HE: =X Q0
w =

Sl Lol OIIEE X CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
— Q12| 1,822,430 x4H 128 87,477
— 2 sl 200,000& x4 x12& 9,600
—4AEE = 8,803
=012 87,476,640& *45/1,000 3,937
ALEE 87,476,6402 x30.6/1,000 2,677
LOEDIAEH
2,676,790 x65.5/1,000 176
E82d 87,476,640& x15/1,000 1,313
MHEE 87,476,640 +8/1,000 700
OUst=0ols 28X 3 AMEgX2eld ¥ 33
29| 15,000,000 15,000
Otist0ol3g A0IXNE AMESX22H & 53
29| 10,000,000 10,000
Ost=olg AAIKIE AMESX22H & 32
29| 15,000,000 15,000
Ousgteols 23X 3 dEswns 29X 16,400
— 2AIE 30,000& *103| x4x=+12& 14,400
— QY22 80,000& x12& 960
— & HI R Xl 1,040,000& 1,040
Ql2AA D AIEXIZ(AlHl) 9,000 9,000 0
307 Q12t0| ™ 9,000 9,000 0
10 M SXNANEEHESIHEX 9,000 9,000 0
OMeledgalaAd X3 9,000,000 9,000
tgl2201a 22| (LoE2XAE) 67,022 132,916 A 65,894
301 LBt A= 67,022 132,916 AN 65,894
0B AR E2RJAL A= 67,022 132,916 N 65,894
OLQEXANAE ASERLY SAHI
6,000 *46H 20 128 66,240
OLo=ETAE AI=RE BEA4#HALESH|
17,0003 *x46H 782
Lol NgeEx=z XN 74,225 7,200 67,025
307 Q12t0| & 74,225 7,200 67,025
02 AABAMANSEEX 74,225 7,200 67,025
Okol Xgexza & 74.,225,000& 74,225
& A=H| 6,510 0 6,510
< 1,953
Al 4,557
201 Bt A | 6,510 0 6,510
= 1,953
Al 4,557
01 At 22l bl 6,510 0 6,510
Odzg% A= 6,510,000& 6,510
o= 1,953
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2N

L
[
HE: =X Q0
w =

el Lol dotas X (SH9: &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
| Al 4 557
OHOIHA &4 106,500 0 106,500
201 gEt24y| 106,000 0 106,000
02 E22%H| 106,000 0 106,000
Ox&ER XYl 6,000
—SXd ¥ |FH 500,000 =6 & 3,000
2222 ¥ MAb 3,000,000& 3,000
OXFE i Z=HI 100,000, 000& 100,000
405 KHoHFE S HI 500 0 500
01 JHMY 2= EF S HI 500 0 500
OxXgy #a0| 500,000& 500
Lol dXie &= 6,894,303 6,536,281 358,022
= 2,883,355
== 474,693
Al 3,536,255
COFAXNIEHHSHE XA 7,200 7,200 0
307 2Iz2t0| & 7,200 7,200 0
10 M SXNAEEHESIHEX 7,200 7,200 0
OLQFAXNAHLMEH S HXNA
200,000 *3M &~ x12& 7,200
ColdxielZ2E XA 5,838,770 5,620,490 218,280
= 2,758,516
o= 413,777
Al 2,666,477
307 2I2t0| & 5,838,770 5,620,490 218,280
= 2,758,516
=} 413,777
Al 2,666,477
11 A EXAIEEX 5,838,770 5,620,490 218,280
OokoldXiel & Alg&s X3
5,838,770,000& 5,838,770
= 2,758,516
o= 413,777
Al 2,666,477
AZRA oIS 69,700 69,700 0
o= 20,190
Al 49,510
307 QI2t0| ™ 69,700 69,700 0
= 20,190
Al 49,510
10 AISIEXAIEEHE2IHIEX 69,700 69,700 0
SEAHOIAM I IR 69,700,000 69,700
= 20,190
Al 49,510
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2N

L
[
HE: =X Q0
L
w

Sl ol A2l HE EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
AlLIHZ2g2d 347,600 347,600 0
== 22,000
Al 325,600
307 2Iz2t0| A 347,600 347,600 0
o= 22,000
Al 325,600
10 M SXNAEEHESIGHEX 347,600 347,600 0
OE&EANLONEYE 2Z(0ILAR)
347,600,000 347,600
& 22,000
Al 325,600
2 A HI S AN S ALY (VIVABOT70) 240,000 200,000 40,000
307 212t0| & 240,000 200,000 40,000
11 A EXAIEEX 240,000 200,000 40,000
QOO0 24I2H A AFS (VIVABO70)
240,000,000 *1JH & 240,000
=S| 2t M E ol ol H Y| 319,033 291,291 27,742
= 124,839
o= 18,726
Al 175,468
307 QI2t0| ™ 319,033 291,291 27,742
= 124,839
o=} 18,726
Al 175,468
10 A EXNANEEHE2IH EX 319,033 291,291 27,742
OFLs)| dgolad ol 2| 319,033,000& 319,033
= 124,839
& 18,726
Al 175,468
Al ZE A Xel =SR] 72,000 0 72,000
402 SI2FXHE0| M 72,000 0 72,000
01 SIZEXIEANS EXZ (MMM E) 72,000 0 72,000
O24 AHIIH 2% XN 72,000,000 72,000
MNAE oS 2,135,760 2,238,300 A 102,540
= 262,650
Al 1,873,110
AZALI2ZA XK (0|LAR) 913,500 1,050,000 A 136,500
& 91,350
Al 822,150
307 gizto| A 913,500 1,050,000 A 136,500
& 91,350
Al 822,150
11T AISIEXAIEEX 913,500 1,050,000 A 136,500
OF2AY 2234 XA (0SAR)
913,500,000& 913,500
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M Lol &0H el It
M Lo=R Qa0
o9t HAS LoE5s (ctel:&2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 91,350
Al 822,150
A EZ A G FH AR O 24 H 159,600 176,400 A 16,800
== 15,960
Al 143,640
307 2Iz2t0| A 159,600 176,400 A 16,800
= 15,960
Al 143,640
11T A EXAIEEX 159,600 176,400 A 16,800
OZ3=2AY FAIE o]
700,000& x19¥ ~12& 159,600
& 15,960
Al 143,640
NASTHIOI= QI AIANBHE 658,500 658,500 0
= 63,900
Al 594,600
307 S12t0| & 658,500 658,500 0
o 63,900
Al 594,600
11 A EXAIEEX 658,500 658,500 0
OMAS MMIHEQl AAF BHE XI&
658,500,000& 658,500
== 63,900
Al 594,600
MASLEoII7 200H2AEE = A& 130,200 130,200 0
= 39,060
Al 91,140
301 et A= 130,200 130,200 0
o= 39,060
Al 91,140
01 Al E& A %52 130,200 130,200 0
ONAELQIIR HABE = 130,200,000 130,200
= 39,060
Al 91,140
LOolaEHE 29X 90,000 90,000 0
= 27,000
Al 63,000
307 2iz2to| A 90,000 90,000 0
= 27,000
Al 63,000
10 MM SAANEEHESIGHEX 90,000 90,000 0
Okolagddy ol & 2d9H XL
90,000,000 90,000
= 27,000
Al 63,000
AEZAGHAA oI AHH| 132,000 132,000 0
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A el Zoel
H: Lol=X 2280
Eel: HASs LoEsS (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 132,000 132,000 0
11T M SRASEEX 132,000 132,000 0
OZZ2AE LA 2]
1,000,000& *11H x12& 132,000
dzAagael 1,200 1,200 0
201 Let249] 1,200 1,200 0
02 =24l 1,200 1,200 0
O ZAL(ZQOIIE X&) =323 4l
100,000 10 2+ 12& 1,200
HX&= <o XA 50,760 0 50,760
< 25,380
Al 25,380
206 = Hl 50,760 0 50,760
< 25,380
Al 25,380
01 =8l 50,760 0 50,760
Oetd&EH s X3 50,760,000 50,760
= 25,380
Al 25,380
oI X Jlgt =4 204,119 171,317 32,802
QIMOI2HXIZHMEH 2 61,309 75,203 A 13,894
101 14 Hl 45,517 41,103 4,414
04 JIZHHZ2XNHEE S 45,517 41,103 4,414
OQMOISAXAHE JI2HZZ2A 21248 36,677
—Jlzs 6,4703 «BAl 2tx2F <212 x 128 26,088
- =54 6,470 *BA| 2t x2H «5F+12& 6,212
— X< 6,470 *BAI 2t x2H x 123 1,243
— g & 6,4703 *BAl 2H+x2H »21Y 2,174
— 2034 40,0003 x2H 128 960
OQMOIZHXNAEEH JIZ2HZZ2A M3 3,806
—Jles 689R *BAl 2tx2H*212 « 123 2,779
— =54 689& «BAl 2t x2H x5+ 123 662
B PN R 689& xBAI 2t+x2H « 12 133
—g&d 6893 *8Al 2Hx2H *21L 232
OCMOIZHXNJAMH JI2ZHZE2X BEE8= 3,834
— =30z 38,077,000% *45/1,000 1,714
—A22E 38,077,000& *30.6/1,000 1,166
—LoFIQYEE 1,166,000% *65.5/1,000 77
- 1828 38,077,000& *15/1,000 572
—&MWEE 38,077,000% *8/1,000 305
OQMOIZHXAMEH JI2ZEHZ 2 X OF2t=Z Al H|
50,000 »2H » 122 1,200
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2AM: =
P 2
o

el

X ZH
S =

Qlyol2 & X& Jlg =4

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 3,792 5,400 A 1,608
01 At 22l 3,120 4,320 A1,200
O= 2| 50,000 »2H « 122 1,200
Oget=&H| 40,0003 »4H » 12 1,920
02 =524l 672 1,080 A 408
OZESFUEMER 21,000& «12& 252
OHYAIERZ 35,000& 128 420
401 AIEHI L 201 12,000 0 12,000
01 A& HI 12,000 0 12,000
OQFHIOIEA Al S At 12,000, 000& 12,000
QI 2Ol 2 & X & ALY 142,810 96,114 46,696
201 ¢4l 9,500 42,014 N32,514
01 At 22l 9,500 42,014 N32,514
OZ2IY 822 MZEH| 1,500,000& *3& 4,500
OQMoI28 T2 23| 5,000,000& 5,000
301 gt d= 133,310 54,100 79,210
1MIIEBESS 133,310 54,100 79,210
OCIMOIE& T2 dAxY 49,860
— HM22td ZH ZA=E 3,760,000& *47| 15,040
—JtE . HE ZH OL3tdiol Z A==
3,760,000& *47| 15,040
—HEZRYZ 32N 2AY
9,440,000& x17| 9,440
—&del=g20U0IH ZA=E
5,640,000& x17| 5,640
—JIZNZ2T s 2A=E
940,000& x57| 4,700
O&el=gZ0Uold 243
450,000& x10H 102 45,000
OZel+=<20UOH A28z
50,000& x10H 500
OQMOIZALAFA B& =
450,000 x5 10 22,500
OQMOIZHAGA H4HE2&Z 50,000& x5H 250
OdeHZE &=t 1,100,000 «1H = 12& 13,200
Osotel g4dst XAl 200,000& 104 2,000
gt M 20,000 0 20,000
NEs Y =8E4 20,000 0 20,000
207 51 OH £ Hl 20,000 0 20,000
01 2284 20,000 0 20,000
Ondgst & =g &4 20,000,000& 20,000
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A el Zoel
Mo mojol =X =
&S HHA=SXMEIA 238t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZoHe =X s 26,993,712 27,804,770 A 811,058
= 12,171,360
< 2,037,781
Al 12,784,571
O =EXNAEIA 23t 26,993,712 27,804,770 A 811,058
= 12,171,360
< 2,037,781
Al 12,784,571
ZOHQ A XI& 43,910 43,910 0
307 21201 A 43,910 43,910 0
11T ALSI S XAEE X 43,910 43,910 0
OFoHel &&s &It 5,210,000& x 13l 5,210
OZOHQl ==2FSH AL 10,800
—s=2XNMEMHA S FEHAKXZ
2,700,000& x13l 2,700
—ZIEs0t g3 RFEHAXR
2,700,000& 13 2,700
—ZIECAAZHAHASZ FEAIKXE
2,700,000& 13 2,700
—ZIECHMHAEXZ FEHAXR
2,700,000& =13l 2,700
OAIZLE ORI BXIEO0Io & EA}
6,300,000& x13l 6,300
OZOML SAE 2 & 5,400,000 x13] 5,400
O=3tAteg StOtS=M 5,400,000& x13] 5,400
Os0telel & I8 A 5,400,000& x 13l 5,400
OAIZZ e AHEH 3,600,000& =13 3,600
OBOHQ A ALRE SA
1,800,000& =13l 1,800
ZOoHel AtSIE XA 777,562 630,518 147,044
201 Let24E] 1,600 2,400 A 800
01 At 22l 1,600 2,400 A 800
O&EMXNEZN s 2AY
600,000& x13] 600
OZOMAXNESX EEE ALHAX M =]
1,000& 13 x1,000% 1,000
301 et d = 6,000 6,000 0
09 HALAHIE& S 6,000 6,000 0
OZOQ HoYAL IR 2ULHRHA 23
100,000 5 «12& 6,000
307 glz2tol & 682,666 622,118 60,548
10 AL SXAIEEE 2 H EX 331,706 288,527 43,179
OO HUABS 331,706
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2N
X ZH -
L= B

el

L OIEOf ol Bt
zojol =21 =&
TOjoI = XA HIA 23

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OHMRoY J1E StOIS=HMH & At
22,200,000 13| 22,200
ZOHQI 2D CH 3| & A 14,538 13,859 679
307 2Iz2t0| A 14,538 13,859 679
11 A EXAIEEX 14,538 13,859 679
OO 2213l 14,538
— S22 X HEOHASE S EAAKXF
5,004,000& x13] 5,004
—ZIEZHMU=XE REEAIXNERE
4,619,000 13| 4,619
—ZIEXNHMEMNA S S AR
4,915,000 13| 4,915
MASE HOHe X 111,192 111,192 0
301 Lt A= 111,192 111,192 0
01 Al E & A 462 111,192 111,192 0
OXdASZOHC X0 £2H e X 25,000
—HAS EO0He 2=2|H| 2,000,000& x12& 24,000
—DNE=XI| L A EHO =2yl
1,000,000 1,000
OMASEMNR =HEZIMAAE
20,000,000 20,000
OFOMe 2XAAMX XA
900 x43| 1, 1850t 2+~ 12& 51,192
OelBEH™o|2 ==X MEX=SH K&
3,000,000 x5H 15,000
28k Aol H2=A 78,320 42,320 36,000
201 et d| 74,420 38,320 36,100
01 AFR 2t 2| H| 48,620 12,520 36,100
OHMAUSAIAH2A ARG EFH2H 17,920
— MO NEZSA L AABELARSF
70,000& x10¥ 13| 700
— &Aoo EsX) MoARG S
70,000 x8H x123| 6,720
—~TOHQIE R AY 2 AV HALY
70,000 «15%H 103l 10,500
O&e Xsxt EX 2 1,100& *27,000& 29,700
OFEFHANEHAXMATHEAIE RAEAAIRE AA
=y 1,000
— AMARAR (AR AMALEE HQ)
100, 000& »7H 700
—ALEHHUAN 2SS 2 300,000& 300
02 2224 H| 25,800 25,800 0
OFMU=XIIE L S0IIE WE EHHiH|
25,800,000 25,800
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2N
X ZH -
L= B

el

02 021 H-

20

o o
2
n e
&

> =

Ol

>

F;I
J
Pl
=

25t

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

3

,900

4,000

A 100

R 3,900,000

3
3

,900
,900

4,000

A 100

H

Al

14

1
2

,240

,392
,848

12,246

1,994

H

Al

14

1
2

,240

,392
,848

12,246

1,994

- we 14,240,000&

= H

14
14

,240
,240

,392
,848

12,246

1,994

= W

210

189
14

,000
,000
,700
,300

210,000

= N H

210

189
14

,000
,000
,700
,300

210,000

210,000,000&

= N H

210

189
14

,000

,000
,000
,700
,300

210,000

= mnH

322
161

136

,056

,028
24,

154

874

300,756

21,300

=z N W

309
154

23
131

,276
,638
,196
442

298,756

10,520

04012t Z22HsE+

OFM=X 2Xtel Ar JI2tH 22 A+ 21|
354,000& *71& «12&

OFoeI=X 22Xl At JIZH2 22X 288
8, 142& +x71H » 12

OJIEtR I 731,000&

= W

= W

309

301

150
22

,276

,608
,804
621
128,

183

,937
,469

520

,948

731

298,756

10,520

- 232 -




M Lol &0H el It
M. Zojel =X =W
Ee: HHAUSXAHA 23t (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 365
== 55
Al 311
201 LBt 12,780 2,000 10,780
= 6,390
= 958
Al 5,432
01 AR 22l ] 12,780 2,000 10,780
ORI LRl AIY 29|
15,000& x71H ~12& 12,780
= 6,390
== 958
Al 5,432
ZHOHQ!I LUBISE AT AN (L Et2 X ) 653, 106 900,650 N 247 544
= 326,553
= 48,983
Al 277,570
101 2124 d| 598,026 900,650 N 302,624
= 299,013
== 44,852
Al 254,161
04 JIZtHI2E2XNSE S 598,026 900, 650 A 302,624
ogstdaxie] AFY JI2tHIZ22 A+ 2124 |
1,235,000 «34H x12& 503,880
= 251,940
== 37,791
Al 214,149
OogetdaTie AIY JI2tHZ22 X B8 2
124,247 3«34 x12& 50,693
= 25,346
== 3,802
Al 21,545
OgetaE dRtel A JI2tH 22X & &2
1,235,000& *34H 41,990
= 20,995
== 3,149
Al 17,846
ogetaE AT AFY JI2tHZ22 X JIEFE 0|
1,463,000& 1,463
= 732
& 110
Al 621
201 LBt 9| 55,080 0 55,080
= 27,540
= 4,131
Al 23,409
01 At 22l ] 55,080 0 55,080
OZHof el dstsodXel AFY 29|
135,000& x34H x12& 55,080
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M Lol &0H el It
Mo mojol =X =
Ee: HHAUSXAHA 23t (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 27,540
& 4,131
Al 23,409
ZHOH QI Al 2HHI & KF2l AFE 134,023 0 134,023
= 67,011
= 10,051
Al 56,961
101 Q124 H| 122,723 0 122,723
= 61,361
o= 9,204
Al 52,158
04 JI2ZtHIZ2 2 ANEE S 122,723 0 122,723
OAZEMIL X2l At JI2PM 22 X el 2 d]
617,000& x14H 128 103,656
= 51,828
&< 7,774
Al 44,054

OAZEM L Xtel At JI2ZtHZ22 X B8 2
62,0773 *x14F «123 10,429

5,214
782
4,433

= MW

OAZEM L Xtel At JIZtHZ22 X &3
617,000& 14X 8,638
4,319
648
3,671

= Hn

201 fEt2E | 11,300 0 11,300
5,650

847
4,803

= N H

01 AFR 22l 11,300 0 11,300
OZOHQ AlZFMI L Rtel At 24l

11,300,000& 11,300

5,650
847

4,803

= MW

2
b
Jn
03
2
re
|0

|2 HIX& 95,370 94,640 730

28,611
66,759

= M

301 €EtE A= 95,370 94,640 730

28,611
Al 66,759

n

2H=6l= 95,370 94,640 730
OMASZEH 224l 635,800& »150H 95,370

= 28,611
Al 66,759

oot sl X 354,600 339,600 15,000
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SN oI ofolDt
Mo mojol =X =
&S HHA=SXMEIA 238t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 106,380
Al 248,220
301 et 8= 354,600 339,600 15,000
< 106,380
Al 248,220
01 MEI2EZE+05l= 354,600 339,600 15,000
OZOII7 S| 354,600,000 354,600
< 106,380
Al 248,220
Zojel SNz E2 59,280 82,000 A22,720
< 17,784
Al 41,496
301 Lete &3 59,280 82,000 ~22,720
< 17,784
Al 41,496
01 AR 2Z A5l 3 59,280 82,000 N22,720
O&e =Xd=2 E= 59,280,000 59,280
= 17,784
Al 41,496
0 XEHER0 =29 145,000 143,300 1,700
< 43,500
Al 101,500
307 gl2tol & 145,000 143,300 1,700
< 43,500
Al 101,500
10 AL SXNAIEEE2EH EX 145,000 143,300 1,700
OZOMe &5 =<0/ 29 145,000, 000& 145,000
< 43,500
Al 101,500
0N MNAWHAL 2 1,534,076 1,350,302 183,774
< 147,831
Al 1,386,245
307 glz2+ol & 1,534,076 1,350, 302 183,774
= 147,831
Al 1,386,245
10 ALSISXAIEEE2EHEX 1,534,076 1,350, 302 183,774
OZMHABMATHE AL 2 1,534,076,000& 1,534,076
< 147,831
Al 1,386,245
Fdopersiazdg 2,489,243 2,489,243 0
= 70,000
Al 2,419,243
307 21201 A 2,489,243 2,489,243 0
< 70,000
Al 2,419,243
05 BIZHRIE 3 2,489,243 2,489,243 0
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SN oI ofolDt
Mo mojol =X =
&S HHA=SXMEIA 238t (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oFMe=EI2 24 2,489,243,000& 2,489,243
< 70,000
Al 2,419,243
ZOCIF2AESAIER2S 1,721,000 1,481,000 240,000
< 100,000
Al 1,621,000
307 21201 A 1,721,000 1,481,000 240,000
< 100,000
Al 1,621,000
10 ALSISEXAIEEE2EHEX 1,721,000 1,481,000 240,000
OZM=2UHESALE 293 1,721,000,000& 1,721,000
< 100,000
Al 1,621,000
ZHLSSHUEINER2E 381,535 319,940 61,595
< 38,153
Al 343,382
307 21240 381,535 319,940 61,595
= 38,153
Al 343,382
10 M2 SXNANEHE2IHEX 381,535 319,940 61,595
OFH==sH&IE 29 381,535,000 381,535
< 38,153
Al 343,382
ZOHUMEQSANAEHZSE 263,231 263,231 0
< 23,744
Al 239,487
307 2I2+0 & 263,231 263,231 0
= 23,744
Al 239,487
10 ALSISXAIEEE 22X 263,231 263,231 0
Ol MaolskNALAE 2% 263,231,000& 263,231
< 23,744
Al 239,487
ToSHHEH2Y 217,216 206,596 10,620
< 18,762
Al 198,454
307 21201 A 217,216 206,596 10,620
< 18,762
Al 198,454
10 ALSISXAIEEE2IHEX 217,216 206,596 10,620
O=xslsddy 29 217,216,000 217,216
= 18,762
Al 198,454
ZOHQUMEANLE2Y 3,037,873 2,901,024 136,849
= 2,035,511
< 130,854
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Al 871,508
307 glz2tol & 3,037,873 2,901,024 136,849
= 2,035,511
< 130,854
Al 871,508
10 ALl SXAIEEE 2 H EX 3,037,873 2,901,024 136,849
ORI MEANLE 29 3,037,873,000& 3,037,873
= 2,035,511
< 130,854
Al 871,508
ZOHI=SRAIEL AT (48) 81,281 81,281 0
< 24,385
Al 56,896
307 21201 A 81,281 81,281 0
< 24,385
Al 56,896
10 ALSISXAIEEE2GHEX 81,281 81,281 0
OZOHAZSTAIL LAT X (45)
81,281,000& 81,281
= 24,385
Al 56,896
A =SRNAIE2H BN (7S) 569,510 539,510 30,000
< 56,951
Al 512,559
307 21201 A 569,510 539,510 30,000
< 56,951
Al 512,559
10 ALSISXAIEEE2GHEX 569,510 539,510 30,000
QFMASXALE 2SXNA(7E)
569,510,000& 569,510
< 56,951
Al 512,559
FHUSXANLHE T2 I8 29,466 29,466 0
< 8,840
Al 20,626
307 21201 A 29,466 29,466 0
< 8,840
Al 20,626
10 ALSISXAIEEE2EHEX 29,466 29,466 0
OFMASANANELEHEEZ OS2I
29,466,000 29,466
< 8,840
Al 20,626
HOI2H T MEANLR2S 90,000 108,000 A 18,000
< 27,000
Al 63,000
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307 glz2tol & 90,000 108,000 A 18,000
< 27,000
Al 63,000
10 ALl SXAIEEE 2 H EX 90,000 108,000 A 18,000
OMel2d HoelHz=Al4d XI& 90,000,000 90,000
< 27,000
Al 63,000
NSASITHE A LS A 189,108 175,400 13,708
< 18,911
Al 170,197
307 glz2+ol & 189,108 175,400 13,708
< 18,911
Al 170,197
10 ALSISXAIEEE2EHEX 189,108 175,400 13,708
OXGASI THEAIES MY 189,108,000 189,108
< 18,911
Al 170,197
NZZOHQIBIAS JSNALHEY 103,500 95,000 8,500
= 19,500
Al 84,000
307 21201 A 103,500 95,000 8,500
< 19,500
Al 84,000
10 AL SXNAIEEE2EHEX 103,500 95,000 8,500
OANZEHMAEAAL J=X3HH 29
103,500, 000& 103,500
< 19,500
Al 84,000
ESHHANYMSNRALNESY 285,000 120,000 165,000
= 85,500
Al 199,500
307 21201 A 285,000 120,000 165,000
< 85,500
Al 199,500
10 ALSISXAIEEER2IHEX 285,000 120,000 165,000
OHMINSHEXNAMEH 2 285,000,000 285,000
< 85,500
Al 199,500
AN B2 23 898,396 898,396 0
< 41,658
Al 856,738
307 gl2tol & 898,396 898,396 0
< 41,658
Al 856,738
05 RIZHRIE 3 898,396 898,396 0
OAMAZHAFIUENZ 29 898,396,000 898,396
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= 41,658
Al 856,738
HOEATHEAILE JDsELAS 10,780 48,070 N 37,290
= 5,390
= 5,390
307 2Iz2t0| A 10,780 48,070 N 37,290
= 5,390
= 5,390
10 MM SXANEEHESIGHEX 10,780 48,070 N 37,290
OXMNQUXNATHEAIE JsBLAY
10,780,000 10,780
= 5,390
& 5,390
olzZEmWo|2 MEaxisd X 6,000 6,000 0
= 1,800
Al 4,200
301 et A= 6,000 6,000 0
o 1,800
Al 4. 200
01 Al E& A %52 6,000 6,000 0
Ool=2&mo|2 MHEX2H| X
3,000,000 x2H 6,000
== 1,800
Al 4,200
S A0Q EsEX 8,650,268 10,872,352 N2,222,084
= 8,127,768
o=t 522,500
307 212t0| & 8,650,268 10,872,352 N2,222,084
= 8,127,768
o 522,500
10 MASXAEEHESIHEX 8,650,268 10,872,352 N2,222,084
OZS&H ESsEX 8,650,268,000& 8,650,268
= 8,127,768
= 522,500
Z0HOtSMEX S HIR XA 1,704,471 1,588,259 116,212
= 1,193,130
& 76,701
Al 434,640
307 2iz2tol A 1,704,471 1,588,259 116,212
= 1,193,130
& 76,701
Al 434,640
11T A EXAIEEX 1,704,471 1,588,259 116,212
OZotE MEXS HIRH 1,704,471,000& 1,704,471
= 1,193,130
o= 76,701
Al 434,640
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Off &t 24

=

i
2m

&

HEENA g2X

= N H

11,244
7,871
506
2,867

15,139

307 21201 &

= N H

11,244
7,871
506
2,867

15,139

A 3,895

11,244,000

= N H

11,244
11,244

7,871
506
2,867

15,139

A 3,895

879,826
152,209
727,617

680,390

199,436

307 glztol &

= M

879,826

152,209
727,617

680,390

199,436

10 AFRIS XA &8
o

3
OsZEHMHAESXA

879,826,000

= M

879,826
879,826

162,209
727,617

680,390

199,436

zZ W

14,000
9,800
630
3,570

26,026

A 12,026

=z W

14,000
9,800
630
3,570

26,026

A 12,026

14,000,000&

= MW

14,000

14,000
9,800
630
3,570

26,026

A 12,026

= MW

10,400
5,220
783
4,397

11,520

A 1,120

= W

10,400
5,220
783
4,397

11,520

A 1,120

<
>
o
HT
bal
1
[DaE )
> o
oy

10,400,000&

10,400

10,400
5,220

11,520

A1,120
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A el Zoel
Mo mojol =X =
&S HHA=SXMEIA 238t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ool XgE2xr3 X3ALS 30,847 33,872 A 3,025
307 gl2tol & 30,847 33,872 A 3,025
02 It M AHE L 30,847 33,872 A 3,025
OF0el NLEEXS NAY 30,847,000& 30,847
ZOHASXIAIE SAXL MRHAH 150,600 0 150,600
= 150,600
307 glz2tol & 150,600 0 150,600
= 150,600
10 ALSISXAIEEE2EHEX 150,600 0 150,600
OZOMASXAIE SAL MM
150,600, 000& 150,600
< 150,600
ASISR0I&A 2| (S KAL) 94,705 0 94,705
301 et d=s 94,705 0 94,705
0B A=A A4S 94,705 0 94,705
OXMA=SKIAE AS=SR223 SAHI|
6,000 «65H 20 x 128 93,600
OZMASXAIE AA=RRE S&IIZHI
17,000& *65H 1,105
ZOHANFAIE SAL GF, OFAZ22+E X 20,340 0 20,340
< 10,170
Al 10,170
307 21201 A 20,340 0 20,340
< 10,170
Al 10,170
10 ALl SXNAIEEE2EH EX 20,340 0 20,340
OZOMANFAIE AE2Z25E X
20,340,000 20,340
< 10,170
Al 10,170
Zoel A=A4E JIsEL 18,000 0 18,000
= 9,000
< 9,000
307 21201 A 18,000 0 18,000
= 9,000
= 9,000
10 ALl SXNAIEEE2EHEX 18,000 0 18,000
OBMOUANFAIYLE JIsES 18,000, 000& 18,000
= 9,000
< 9,000
HHSAAE 1,820,000 1,789,900 30,100
StEEAH=S 1,820,000 1,789,900 30,100
& Fedz=s N 1,820,000 1,789,900 30,100
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Off &t 24

=

i
2m

1,820,000

1,789,

900

1,000,000& *2,600F «70%

1,820,000
1,820,000

1,789,

900

= M W

11,105,105
9,121,034
791,904
1,192,167

13,515,

909

A2,410,804

02
==
ro
9
P
0z
g
H
024

= M W

11,105,105
9,121,034
791,904
1,192,167

13,515,

909

A2,410,804

= M W

1,251,952
876,366

56,338
319,248

1,140,

071

111,881

= MW

1,251,952

876,366
56,338
319,248

1,140,

071

111,881

1,251,952,000&

= W

1,251,952
1,251,952

876,366
56,338
319,248

1,140,

071

111,881

=z N H

966,774
676,742

43,505
246,527

948,

693

18,081

=z N H

966,774
676,742

43,505
246,527

948,

693

18,081

966,774,000&

= Hn

966,774

966,774

676,742
43,505
246,527

948,

693

18,081

= M

763,800

229,140
534,660

804,

000

A 40,200

H

Al

763,800

229,140
534,660

804,

000

A 40,200

763,800,000&

763,800

763,800
229,140

804,

000

A 40,200
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AN el 04t
PN

HE: mojol MEOE XY
Sl ZOjQ JEMBSE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 534,660
PSRV el R = 7,663,920 10,234,690 A2,570,770
= 7,200,999
< 462,921
301 gtE L= 7,663,920 10,234,690 A2,570,770
= 7,200,999
< 462,921
01 MI2EZE 6= 7,663,920 10,234,690 A2,570,770
OoFelA=z 7,663,920,000& 7,663,920
= 7,200,999
< 462,921
Zoiel o =4l 458,659 387,180 71,479
= 366,927
Al 91,732
307 glz2tol & 458,659 0 458,659
= 366,927
Al 91,732
11T MISXASEX 458,659 0 458,659
O&oe o=zl 458,659,000 458,659
= 366,927
Al 91,732
HEUERESEL 7,520,000 7,532,500 A 12,500
HUEBEEIES 7,520,000 7,532,500 212,500
S HEAANEHE 7,520,000 7,532,500 A 12,500
308 XtXIEHH SOl A 7,520,000 7,520,000 0
07 IXNSHH AR S = 7,520,000 7,520,000 0
OZSHMAEAEY SHARDY
7,520,000, 000& 7,520,000
WEEH - (0D 375,660 360,000 15,660
w=Zdl XA 375,660 360,000 15,660
susE K& 375,660 360,000 15,660
308 XX EHSOIA 375,660 360,000 15,660
08 WSII20HetE = 375,660 360,000 15,660
OExus2xd 2G XA 18,783,000 »20H 375,660
HY2HAH (ol ZOofelt) 140,630 116,385 24,245
ol 2 gl 50,270 31,225 19,045
ol 2A| 31,307 31,225 82
101 14 Hl 31,307 31,225 82
02 JIEt& 2 == 31,307 31,225 82
OB EX TS FE ALAHLINF A
i 28,443

- 244 -




e =Rl S el
HaM: HHM2HAH| (= 0 D)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—Jl23((0I3) 1,714,750 x1H x 128 20,577
—JIEx= 100,000& x1H ~12& 1,200
— ANESH XS 471,450 x1H 43| 1,886
— g B x| 105,000 *35/40x 18 x12& 1,103
— HHZAH| 130,000& x1H x12& 1,560
— oot Al
1,714,750 x84%*86%*1/30%1/7+56 Al 2+ 331
— X222 4,960 *1H *30A| 2tx12& 1,786
O&MAFXTAE MG AMAESMAIIM 28
= 2,864
— =202 28,443,0002 *45/1,000 1,280
—AAEE 28,443,000 x30.6/1,000 871
— oI RAEH 870,360& *65.5/1,000 58
- 11888 28,443,000 *15/1,000 427
—MES 28,443,000& *8/1,000 228
CIMOI2 &R oE 2| 18,963 0 18,963
101 @1 21| 18,963 0 18,963
02 JIEA 2 %= 18,963 0 18,963
OCIMOI2&X& AZFEEH LI H 124 HI 17,227
A== 1,399,490 x1¥ «10& 13,995
e = | 105, 000 «35/40x 1 x 102 919
— HHZAYH| 130,000& x1H 10 1,300
— oot Al
1,399, 4902 x84%*86%*1/30%1/7 Al 2t x42 A| 2¢ 203
— X225 4 050& *20Al 2tx 108 810
OCIMOI2AXA AMUAESHMAIM EE€S 1,736
— =043 17,227,000 x45/1,000 776
—H2AdEE 17,227,000 *30.6/1,000 528
— oI AEH 528,000& *65.5/1,000 35
— 1888 17,227 ,000& x15/1,000 259
—MHES 17,227,000 8/1,000 138
Jl=23tl 90,360 85,160 5,200
JlE23Hl 90,360 85,160 5,200
201 Lt 2| 45,840 38,640 7,200
01 At 22l bl 30,240 30,240 0
OBAM2gII=238H| 30,240
— = H| 40,0002 %28 x12& 13,440
— = 2| 50,000& x28H x12& 16,800
02 352 H| 15,600 8,400 7,200
O2ERS(LEH SD]) 1,300,000& *12& 15,600
202 04| 40,320 40,320 0
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